BER ~=ad~ HEI

1 ROMEERD L,

O sina @ sinp
3 @ cosa ® cosp
@ tana ® tanp
4
EA =ATTBNT, EALSD 250

fra, BET5HL,
(1) sina=( ) (@
(3) tana =( )

cosa = ( )

2 45° LN O =ML THRYE,
(1) sin70°=
(2) cos80° =
(3) tanb50°=

(1) sin(90°-6) =
(2) cos(90°-0) =
(3) tan(90°-0) =
(4) sin(180°—4) =
(5) cos@80°-0) =
(6) tan(180°—4) =

4 ROW% O 2 HNTHEYE,

< L

FhON Do TND L X EANDN-> TS & &
5 [IEsXER]

R &9 5,

=( ©® )
, atbie=® : )
YR H S TV,

ER
x( ®
IEREHMEZ 5 !

6 [AokEE]

7 ROEZRD X,
(1) sinl5°=
(2) sin75°=
(3) sinl05°=

8 WO=AFIIEA =M, HA A,
MA=ATEOWTINTH DD,

(1) a=3, b=4, c=5

2) a=4, b=3, c=2

(3) a=5, b=6, c=7
<point>

KEHO2FEE( O &S

@)
®)

M)
)

®)

® @

@)

)

®)

@)

)

®)

)

4 5 32

3 p 4

cospB  (2)

1
tan g

sin

cos20°

sin10°

tan 40°

cosé

sin @

tan 8
sin @
—cosé
—tan@

asin@

acosé
btan @

b @ C

sin B sinC
2R
sin A:sinB:sinC

T D=7’

M\ > T &3l

A

B @ C

b2 +c2 —2bccosA

b2 +¢c2 —a2
2bc

V6 -2
4
V6 +/2
4

V6 +/2
4

52=32+4+42J 1,
=R R=p

42 >32 422 11,
#lifA = A
72<52+62 L0,
B =A%

D 2300 2 FDFO

9 AMIZEWT, bk L,
( © yEeLy, ( ) )

B~ 10 C
10 ZERIZHWT, azRd L,
( © ye#ky ( @ )

A . a2 =

~

11 ZERIZBWTH C 2RD X,
( © yesLy, ( ) )

. cosC = 1

0°<C <180° L ),
C=( @)

12 ERIZEBWTHce 2R L,
A=180°—(45°+105%) =( @ )°

P (@ yEEkY,

( ® )

. 1 J6 +/2
. C'EZN/E'T

Le=( @)

b %3k k.

YEFL Y, ( @ )
W5 L, b2—6b—7=0
a/ \o " (b-7)b+1)=0

7\ b>0c]:D, b:( @ )
B 6 ©

13 AXIZEHWT,
( )
A

14 AABC (ZBWT,
sinA:sinstinC@}:%,
7 5 3
RRADRE S %KD X,
fi#) sinA:sinB:sinC= : : )
£, FEREHLD,
sinA:sinB:sinC=® : : )
XoT, aib:c=7:5:3L72%,
ER K & VT,
a=( @ )
b=( @ ) EnFD (7=72Lk>0)
c=( ® )

REIE( ®

)THDLNG, mKAIE
( @ )Ths,
( JEBEL Y,
( © )

A
3k Sk

B Tk &

. COSA= _1
2

0°<A<180° kv, A=( @ )

15 [MIicH#EET 2 AT ]

5 D P44 7% ABCD (2350 C,
A+C=( @ ) &V
B cosA=( @ )
C
sinA=( @ )
Bl 21X, cosAz—%O)&%, cosC=( @ )
sinB:%@ké‘, sinD=( ® )

12

® @ ©06

No.11

1E5%

10 __ b
sin45°  sin 60°
5\6

<point>
Qzlﬂk’é, ay = bx
a X

A%
a2 =22 4+32-2.2-3-c0s60°
7

A%

ETHE 82 452 _72

2-8-5

60

30

1E5%

V2 c

sin 30° 5|n105°

/

V3 +1 (sin105° =@j

13
@
@
®

14

@

®

15

® © 60 6

©

ZE
(V43)?

=b? + 62
7

—2-b-6-c0s60°

7:5:3
SFD=080kk

a:b:c

k2 4 25k2 —
2-3k -5k

49k?

120



